General Test

Group Number : 4

Group Id : 2268958202
Group Maximum Duration : 60

Group Minimum Duration : 60

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 250

General Test

Section Id : 22689513781
Section Number : |

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50

Number of Questions to be attempted : 50

Section Marks : 250
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 22689527332
Question Shuffling Allowed : Yes

Question Number : 186 Question Id : 226895667658 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

If 36: 84 = 42: X, then the value of X, is:

1.18
2.98
3.72
4.48

Options :

2268952588478. 1
2268952588479.2
2268952588480. 3
2268952588481 4

Question Number : 186 Question Id : 226895667658 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : S Wrong Marks : 1

g 36:84 42 : X, AIXPTAAGE -

1.18
2.98
3.72
4.48

Options :

2268952588478. 1
2268952588479.2
2268952588480. 3
2268952588481. 4

Question Number : 187 Question Id : 226895667659 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

th
Ram purchased a watch at a cost of (%) of the original cost and sold at 8% more than the original cost. His

profit/loss is

1. 20% profit
2. 20% loss
3. 18% profit
4. 18% loss

Options :

2268952588482. 1
2268952588483. 2
2268952588484. 3
2268952588485. 4

Question Number : 187 Question Id : 226895667659 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

mﬁwﬂsﬁﬁaﬂaﬂaﬁaﬂnﬁﬁ(%)ﬁmwmmwmﬂam%wawGﬂailﬁlu/sﬂ?{%‘-
1. 20% TTH
2.20% B4
3. 18% AT

4.18% Bl

Options :

2268952588482.
2268952588483.
2268952588484.
2268952588485.

s W N =

Question Number : 188 Question Id : 226895667660 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Arrange the simple interest of the following cases in decreasing order-
{A) The simple interest on Rs 6600 at 5% per annum for 2 yrs.

(B) The simple interest on Rs 200 at 6% per annum for 5 yrs.

(C) The simple interest on Rs 840 at 5% per annum for 4 yrs.

(D) The simple interest on Rs 5000 at 12% per annum for 2 yrs.
Choose the correct answer from the options given below:

A). (B), (O), (D)
B), (A), (D), (Q)
B), (A), (), (D)
D), (A). (C). (B)

'

1. (
I
3. (B),
4.(

Options :

2268952588486. 1
2268952588487.2
2268952588488. 3
2268952588489. 4

Question Number : 188 Question Id : 226895667660 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Frafeiad Je & QIR0 SIS Bl 3(aRie] HH H Haiyd Be-

(A) 6,600 TUGI GX 2 TU] & ferg 5 Uf2rd Ufd 98 & o 4 TR0 s |
(B) 200 Ul WX 5 Y[ & oW 6 Ufaerd Ufd af &1 &3 I WreRu &1+ |
(C) 840 T UX 4 Y] & foid 5 Uf=rd Ul a8 & 53 ° WIHR sl
(D) 5,000 $UY TR 2 9T & foTW 12 Uiawa ufd a¥ & o3 ¥ IR & |
T4 feg 7 fdepedl § 9 wel 9wk I

Options :

2268952588486. 1
2268952588487. 2
2268952588488. 3
2268952588489. 4

Question Number : 189 Question Id : 226895667661 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Four circles of equal radius are drawn with centers, A, B, C and D such that ABCD is a square of side 14 cm and the

circles touch externally as in the figure. The area of the shaded region bounded by the 4 circles is: (Take 71 = Q}
7

1. 24 cm?
2.42 cm?
3.96 cm?
4.54 cm?

Options :

2268952588490. 1
2268952588491. 2
2268952588492. 3
2268952588493. 4

Question Number : 189 Question Id : 226895667661 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

A, B, C 3R D &% dTi quT aR1aR FHs91 d1c] IR 9wl @l 39 UBR HRREd {3541 S 8, 76 ABCD, 14 cm ST aTell U a1l
22

S ¢ AR IO TR TY Y WY xd g o & T MG fa H B 1 4 IO A FR BWifd eF w AAmE B (i = =

1. 24 cm?
2.42 cm?
3.96 cm?
4.54 cm?



Options :

2268952588490. 1
2268952588491. 2
2268952588492. 3
2268952588493. 4

Question Number : 190 Question Id : 226895667662 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The distance between points A (-5, 7) and B (-1, 3) is:

1. 4 units
2. 6 units
3. 44/2 units
4.7 units

Options :

2268952588494. 1
2268952588495. 2
2268952588496. 3
2268952588497. 4

Question Number : 190 Question Id : 226895667662 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

figa (s 7 dRe (1, ) BIEBIGIE:

1.4 SHRAT
2.6 3@EAl
3.4v2 3HIFAT
4.7 5@l

Options :

2268952588494. 1
2268952588495.2
2268952588496. 3
2268952588497. 4

Question Number : 191 Question Id : 226895667663 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The marks out of 50 obtained by 100 students in a test are given below as:

Marks obtained 20 |25 |28 29 |33 |38 |42 |43
Number of students 6 |20 24 28 hs ]a 2 |

Find the value of the (3 mode - 2 median).

1.27.5
2.31
3.30
4.288

Options :
2268952588498. 1



2268952588499. 2
2268952588500. 3
2268952588501. 4

Question Number : 191 Question Id : 226895667663 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Uch ULIa o 100 B R 50 1 U I <ids d RU T &:

3 UId gU 20 (25 28 29 33 (38 |42 |43
W Bt GE 6 20 [24 P28 |15 |4 |2 [

(3 95D - 2 AIHT ) ©I HIH Fid Difeig|

1.275
2:31
3.30
4.28.8

Options :

2268952588498. 1
2268952588499. 2
2268952588500. 3
2268952588501. 4

Question Number : 192 Question Id : 226895667664 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Suppose we throw a dice once. Then, which one of the following is/are correct?

{A) The probability of getting a number greater than 4 is %
(B) The prebability of getting a number greater than or equal to 4 is %

(C) The probability of getting a number less than or equal to 3 is %

(D) The probability of getting a number less than or equal to 6 is 1.
Choose the correct answer from the options given below:

1. (A), (B) and (D) only
2. (B), (C) and (D) only
3. (A), (C) and (D) only
4. (A) and (D) only
Options :
2268952588502. 1
2268952588503. 2
2268952588504. 3
2268952588505. 4

Question Number : 192 Question Id : 226895667664 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



T fifore i 89 Ud 9R U (dice) Hhard &, ol Fgfoaa ¥ o9 914 gl &7
(A) 4 T S S U B &1 wiliear %%I

q514ﬁaﬁ$maﬂ$wﬁ@1mﬁﬁﬁﬁaﬁuﬁw%%i
(C)sﬁmmMWMW@ﬁﬁmﬁm%%:

(D) 6 Y T I 3G SRTET T U B4 B WifdddT 1 81
4 feu e faseg! | € | t IR g+

1. ®dd (A), (B) R (D)
2.®4d (B), (C) AR (D)
3.%4d (A), (C) 3R (D)
4.%ad (A) 3R (D)

Options :

2268952588502. 1
2268952588503. 2
2268952588504. 3
2268952588505. 4

Question Number : 193 Question Id : 226895667665 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Match List-1 with List-1l

List-1 List-11
(A) Bp, —10¢, ne
(B) ®pPs (mn 21

(C) "P4 = 360, then find n.|(Ill) 216

(D) "Cz = 210, find n. (IV) 6720

Choaose the correct answer from the options given below:

1. (A) - (@, (B) - (I, (C) - (m), (D) - (V)
2.(A) - (), (B) - (1, () - (V). (D) - ()
3. (A) - (1, (B) - (1V), () - (1), (D) - (In)
4.(A) - (), (B) - (), (Q) - (). (D) - (U

Options :

2268952588506. 1
2268952588507.2
2268952588508. 3
2268952588509. 4

Question Number : 193 Question Id : 226895667665 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



-1 BT gAT-11 D 1Y e B -

-1 -1
(A) 3p,—10¢, e
(8) ®Ps (i 21

(C) "P4 = 360, n BT HF 1 HIFoR 1|(111) 216
(D) "C, = 210, n @1 A J1d BIfed | |(1v) 6720
i feu e [decal | 4 98l 3<R I -

1. (A)-(). (B)=(), (C)-(11), (D)-(1V)
2. (A)-(1), (B)-(lin), (C)-(1v), (D)-(1)
3. (A)-(ln), (B)-(V), (C)-(1). (D)-(1N)
4. (A)-(V), (B)-(1), (C)-(1), (D)-(111)

Options :

2268952588506. 1
2268952588507. 2
2268952588508. 3
2268952588509. 4

Question Number : 194 Question Id : 226895667666 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The present age of a father is 4 years more than double the age of his son. After 10 years, the father's age is 30 years
more than his son. Then the present age of father is:

1. 26 years
2. 28 years
3. 56 years
4. 60 years

Options :

2268952588510. 1
2268952588511. 2
2268952588512. 3
2268952588513. 4

Question Number : 194 Question Id : 226895667666 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

U U @1 GHF 3T 30 & B 3G & o7 4 4 a9 3ifI® &1 10 9 & 916 001 @ 3G ¢ § 30 e 31fae g St

1.26 414
2.28 419
3.56 4
4. 60 41

Options :

2268952588510. 1
2268952588511.2
2268952588512. 3
2268952588513. 4



Question Number : 195 Question Id : 226895667667 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The angles of elevation of the top of a tower from two points at a distance of 5 meters and 20 meters along the same
straight line from the base of the tower, are complementary. Find the height of the tower.

1.10 m
2.15m
3.10v3 m
4.20m

Options :

2268952588514. 1
2268952588515. 2
2268952588516. 3
2268952588517. 4

Question Number : 195 Question Id : 226895667667 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

U HHR & da 4 U Wl w@r ¥ 2 fdg 5 diex SR 20 el & gl 1R 8, 394 JHR & 21N & 3997 SIU Ua gal & R
DU | HAR &1 S 9d dife|

1. 10 Hie

Options :

2268952588514. 1
2268952588515. 2
2268952588516. 3
2268952588517. 4

Question Number : 196 Question Id : 226895667668 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
The base diameter of a cylinder is 21 cm and the height is 28 ¢cm, then:
{A) Radius of cylinder = 10.5 cm
(B) Volume = 12936 cm?
{C) Curved Surface Area = 1848 cm?
(D) Total surface area = 2541 cm?
Which of the following is/ are correct?
Choose the correct answer from the options given below:

1. (A), (B) and (D) only
2. (A), (C) and (D) only
3. (B), (C) and (D) only
4. (A), (B} and (C) only



Options :

2268952588518. 1
2268952588519.2
2268952588520. 3
2268952588521. 4

Question Number : 196 Question Id : 226895667668 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

s a0 & YR BT o419 21 cm & 3K $Hd1E 28 cm ©, dl -
(A) SO BT 3T = 10.5 cm

(B) 310 = 12936 cm *

(C) T UETT 8% = 1848 cm 2

(D) HYUf UHTT & = 2541 cm 2
Fafafad 4 4 oF 91 58l 87

2 feu e fomed! o € W@ SR I

1. Had (A), (B) 3R (D)
2. %494 (A), (O 3R (D)
3. ®4d (B), (C) 3R (D)
4.%ad (A), (B) ¥R (C)

Options :

2268952588518. 1
2268952588519. 2
2268952588520. 3
2268952588521. 4

Question Number : 197 Question Id : 226895667669 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

P and Q can complete a job in 24 days working together. P can alone complete it in 32 days. Both of them worked
together for 8 days and then P left. The number of days Q will take to complete the remaining job is:

1. 26 days
2. 30 days
3. 64 days
4. 60 days

Options :

2268952588522. 1
2268952588523. 2
2268952588524. 3
2268952588525. 4

Question Number : 197 Question Id : 226895667669 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



p 3R e 24 feT & U &9 T 2 TE6d &1 p bl 39 32 T F W o2 gwvar 31 oAl A 8 A o wE g o
a5 3R fiAR P 19 B1S & 901 77| 2N &1 & [ 63 J Q i fba o e 7

1.26 64
2,304
3.64 faq
4.60 f&4

Options :

2268952588522. 1
2268952588523. 2
2268952588524. 3
2268952588525. 4

Question Number : 198 Question Id : 226895667670 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

A person rows a boat 10 kms along the stream in 30 minutes and returns to the starting point in 40 minutes. The speed
of the stream is:

1. 17.5 km/h
2.2.5 km/h
3.5 km/h
4.15 km/h

Options :

2268952588526. 1
2268952588527. 2
2268952588528. 3
2268952588529. 4

Question Number : 198 Question Id : 226895667670 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

U oAfad YR @I G20 & Ty 71 9 30 e 7 10 fbandie @ g3t a9 oxdl g, 3R 40 f7e # iR fbig ® aow dedn
HEREAR GRS

1.17.5 T4l /gl
2. 25 ol He
3.5 [l g

4. 15 f AL /HeT

Options :

2268952588526. 1
2268952588527.2
2268952588528. 3
2268952588529. 4

Question Number : 199 Question Id : 226895667671 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



The unit place digit of the number (37)2 is:

1.2
2.3
3.7
4.9

Options :

2268952588530. 1
2268952588531. 2
2268952588532. 3
2268952588533. 4

Question Number : 199 Question Id : 226895667671 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

T (37)° B 3PE UH AT &

1.2
2.3
3.7
4.9

Options :

2268952588530. 1
2268952588531. 2
2268952588532. 3
2268952588533 4

Question Number : 200 Question Id : 226895667672 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

In a flower bed there are 23 rose plants in the first row, 21 in the second, 19 in the third and so on. There are 5 rose
plants in the last row. Then the number of rows in the flower bed is:

1.5

2.10
215
4.20

Options :

2268952588534. 1
2268952588535. 2
2268952588536. 3
2268952588537. 4

Question Number : 200 Question Id : 226895667672 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



TS B I AR H U Ufad H 23 [aE d Ng g, gEd A 21, e H 1o IR M e ¢ I 8| sifcm dffa F 5 o
& U g1 ool o R H ufdad! 1 demn g

1.5
2.10
315
4. 20

Options :

2268952588534. 1
2268952588535. 2
2268952588536. 3
2268952588537. 4

Question Number : 201 Question Id : 226895667673 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Find the term which doesn't fit into the series given below:
H4Q, K10N, N20K, Q43H, T90E

1. H4Q
2. K10N
3. Q43H
4. T90E

Options :

2268952588538. 1
2268952588539. 2
2268952588540. 3
2268952588541. 4

Question Number : 201 Question Id : 226895667673 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

I UG @l Wivl &l = < 15 $@c H 3ugdd el o:
H4Q, K10N, N20K, Q43H, TI0E

1. H4Q
2. K10N
3. Q43H
4. TSOE

Options :

2268952588538. 1
2268952588539. 2
2268952588540. 3
2268952588541. 4

Question Number : 202 Question Id : 226895667674 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Given figure is embedded in any one of the four option figures. Find the option figure which contains the given
figure as its part.

Options :

2268952588542. 1
2268952588543.2
2268952588544. 3
2268952588545. 4

Question Number : 202 Question Id : 226895667674 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



<Rl S IR ddicyd sdfadl ¥ ¥ 6l ta o siafiied 81 I fcud enpfodl & ¢ forad €1 718 enafa wmifga &l

H“"mﬂ_
1. i .
-
Ak el
3
4. \l
Options :

2268952588542. 1
2268952588543. 2
2268952588544. 3
2268952588545. 4

Question Number : 203 Question Id : 226895667675 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

A clock is set right at 5 a.m. The clock loses 16 minutes in 24 hours. What will be the correct approximate time when
the clock indicates 10 p.m. on 4th day?

1.11 p.m
2.9 p.m
3.11Tam
4.11.30 p.m

Options :
2268952588546. 1



2268952588547. 2
2268952588548. 3
2268952588549. 4

Question Number : 203 Question Id : 226895667675 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

Uch gl e 5 99l U2 &I 9l 8] Ul 24 °¢ F 16 B2 &1 &H U499 ddid! o | 96 gl 1Y 6= Id 10 &6l &1 999 gardl &
49 Uo! 9ug fean g 2

1.3Id & 11 99
2Ad B 9T
3. g¥e 11 891
4.3 & 11.30 99

Options :

2268952588546. 1
2268952588547. 2
2268952588548. 3
2268952588549. 4

Question Number : 204 Question Id : 226895667676 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

If 1st July 2022 was Sunday, then what was the day on 1st November 20227

1. Monday
2. Tuesday
3. Thursday
4. Friday

Options :

2268952588550. 1
2268952588551.2
2268952588552 3
2268952588553. 4

Question Number : 204 Question Id : 226895667676 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

gfe, 1 9ciTs 2022 ®I AR Y1, a1 1 Fde¥ 2022 DI DI Il a7 U7

1. AR
2. HIea
3. PdR/ggeUfdaR
4. HAR

Options :

2268952588550. 1
2268952588551.2
2268952588552. 3
2268952588553. 4



Question Number : 205 Question Id : 226895667677 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Complete the following figure matrix.

D

Al A
JAVANVASAN
BB
NIZNE
?

Options :

2268952588554.
2268952588555.
2268952588556.
2268952588557.

s W N =

Question Number : 205 Question Id : 226895667677 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1



Ffafea snafa HeE o @ ot

I
~ |9

Options :

2268952588554. 1
2268952588555.2
2268952588556. 3
2268952588557. 4

Question Number : 206 Question Id : 226895667678 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

If A+ B means A is the brother of B; A * B means A is the sister of B; A # B means A is the daughter of Band A- B
means A is the wife of B, then in the expression U# C-D + H + T, how is H related to U?

1. Father
2. Uncle
3. Aunt

4. Brother

Options :

2268952588558. 1
2268952588559. 2
2268952588560. 3



2268952588561. 4

Question Number : 206 Question Id : 226895667678 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

qEA+BT3YE A, BBIUSE A*BHIUE A BB deIe: A4BTHI G A BBIaCI 6 IIRA-BHI3RBA,
BB TR g| M U#C-D+H+THIDBH H,UT Py Jafa e -

1. o
2. M
3.4l

4. 4%

Options :

2268952588558. 1
2268952588559. 2
2268952588560. 3
2268952588561. 4

Question Number : 207 Question Id : 226895667679 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Choose the correct mirror image of fig(x), when mirror is placed at the right side .

Fig(x)

EE

38

Options :

2268952588562. 1
2268952588563. 2
2268952588564. 3



2268952588565. 4

Question Number : 207 Question Id : 226895667679 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

ofd GUYT 1 &T3 3R @1 S, o Frafdiad el # 9 Siefd (o ®1 |6l guu uidfer |

ST ()

-

EEE

Options :

2268952588562. 1
2268952588563.2
2268952588564. 3
2268952588565. 4

Question Number : 208 Question Id : 226895667680 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
In a certain code, ALPHABET is written as TEBAHPLA. How is DECIPHER written in that code?

1. REPHCIED
2. REPHICED
3. REIPHCED
4. REHPICED

Options :

2268952588566. 1
2268952588567. 2
2268952588568. 3
2268952588569. 4



Question Number : 208 Question Id : 226895667680 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Uchs [AT3d GeUINT I ALPHABET @I TEBAHPLA & &4 T foral 9l &, ol 341 $eyisl ¥ DECIPHER &Y forr sireem?

1. REPHCIED
2. REPHICED
3. REIPHCED
4. REHPICED

Options :

2268952588566. 1
2268952588567.2
2268952588568. 3
2268952588569. 4

Question Number : 209 Question Id : 226895667681 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

In the following options, four words have been given, out of which three are alike in some manner, while the fourth
one is different. Choose out the odd one.

1. Milk
2. Water
3. Gil

4. Sugar

Options :

2268952588570. 1
2268952588571. 2
2268952588572. 3
2268952588573. 4

Question Number : 209 Question Id : 226895667681 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

FufaRad faeedl o IR Weg fGT MU R, o U @i oiF fbdl A fodll =0 o 90F 8, Sl 91T 3ol 8 | 34 el &l g |

1.G4
2.0t
3.4d
4. T

Options :

2268952588570. 1
2268952588571.2
2268952588572 3
2268952588573. 4

Question Number : 210 Question Id : 226895667682 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



A girl walks 20 meters towards North. Then, turning to her left, she walks 50 meters. Then, turning to her right, she
walks 40 metres. Again, she turns to her right and walks 50 metres. How far is she from her initial position?

1. 60 metres
2. 50 metres
3. 20 metres
4. 40 metres

Options :

2268952588574. 1
2268952588575.2
2268952588576. 3
2268952588577. 4

Question Number : 210 Question Id : 226895667682 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

TS To®! W @I AR 20 Hiex Tad! gl R a8 o= 15 3R Goox 50 Hiex gadt ol R a8 om+ aife-! ik gsox 40
ez gad! &1 98 iR 3= qIfeeT ok gadl & 3R 50 wiex Tad 81 98 oot uRfie Rufy € fea gr &2

1. 60 Hlex
2. 50 4T
3.20 Hiex
4. 40 41T

Options :

2268952588574 1
2268952588575.2
2268952588576. 3
2268952588577. 4

Question Number : 211 Question Id : 226895667683 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Thirty children are standing in a row facing Neorth. If in this row Neelam is seventeenth from the left then what is the
position of Neelam from the right?

1517
2.13
3.14
4.15

Options :

2268952588578. 1
2268952588579. 2
2268952588580. 3
2268952588581. 4

Question Number : 211 Question Id : 226895667683 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Ig o= TR @1 3R 48 T Us Ufdd § @s B fe 39 ufda & oy 912 ok @ wiEd &, 91 o iR € Hiay o fRfy
1 sl

1.17
2.13
3.14
4.15

Options :

2268952588578. 1
2268952588579. 2
2268952588580. 3
2268952588581. 4

Question Number : 212 Question Id : 226895667684 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

What will come in place of the guestion mark in the following numerical series?
6,9 14, 21,30, 7

1.36
2.41
3.62
4.59

Options :

2268952588582. 1
2268952588583. 2
2268952588584. 3
2268952588585. 4

Question Number : 212 Question Id : 226895667684 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Fofefaa demas Y& ¥ uy 8 (7) & ®=IH U Hl AU
6,9,14,21,30,?

1.36
2.41
3.62
4.59

Options :

2268952588582. 1
2268952588583. 2
2268952588584. 3
2268952588585. 4

Question Number : 213 Question Id : 226895667685 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Find the missing number from the given alternatives.

10

14

15

21

20

?

1.28
2.36
3.42
4. 43

Options :

2268952588586. 1
2268952588587. 2
2268952588588. 3
2268952588589. 4

Question Number : 213 Question Id : 226895667685 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

feu T famed! o § o Y= &1 udl TR

6

10

14

9

15

21

12

20

1.28
2.36
3.42
4.43

Options :

2268952588586. 1
2268952588587.2
2268952588588. 3
2268952588589. 4

Question Number : 214 Question Id : 226895667686 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Seven people T, U, V, W, X, Y & Z are standing in a single line facing a milk - booth. X is somewhere ahead of Y. There
is exactly one person standing between V and Z. W is immediately behind T. Y is behind both U & W. f W & V are
fourth and fifth in line respectively, then which of the following must be true?

1.T is first
2. Z is first
3.Y is sixth
4.Y is seventh

Options :

2268952588590. 1
2268952588591.2
2268952588592. 3



2268952588593. 4

Question Number : 214 Question Id : 226895667686 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

AT, U, V, W, X, Y 3R Z U Ufed 5 0o g7 & 9 &I aXP He b Gs gl X, 'Y U dgl AP g1 'V AR Z B dig
3% U@ ofad @l o) T @ 8@ Ul 'w' 81 U iR 'w BF & U1 'y 81 3% 'w 3iR v Rk 91 o Ud WA W E,
dl Fafeied O ¥ &F W 98l e[ arew?

L.THRAYARE
2.7 ™AW
3.YBaIg
4.y 9rddl &

Options :

2268952588590. 1
2268952588591.2
2268952588592. 3
2268952588593. 4

Question Number : 215 Question Id : 226895667687 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Select the figures which, when fitted with each other, will form a complete square.

(B)

N
I\
N

D)

A), (B) and (D) only
A), (B) and (C) only
A),(B).(C)a(D)
B),(C), & (D) only

P ek S

1.
2.
3.
4.

Options :

2268952588594. 1
2268952588595. 2
2268952588596. 3
2268952588597. 4

Question Number : 215 Question Id : 226895667687 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



I A adl Bl 994 DY 9l U ga & U1y Fcde U gl @l ol i |

(B)

N
I\
N

(D))

1.99d (A), (B) IR (D)
2.%ad (A), (B) 3R (O)
3. (A), (B), (O) IR (D}

4.%ad (B), (C), AR (D)

Options :

2268952588594. 1
2268952588595. 2
2268952588596. 3
2268952588597. 4

Question Number : 216 Question Id : 226895667688 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

The first Indigenous vaccine of COVID-19 developed in India was....

1. COVAXIN

2. COVISHIELD
3. SPUTNIK-V
4. MODERNA

Options :
2268952588598. 1
2268952588599. 2



2268952588600. 3
2268952588601. 4

Question Number : 216 Question Id : 226895667688 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

YR ¥ [Gafid Sifds-19 &1 Ugal W@egi dieT U1l

RCAGIESES
2. pifadics
3. WdHe-d
4. T

Options :

2268952588598. 1
2268952588599. 2
2268952588600. 3
2268952588601. 4

Question Number : 217 Question Id : 226895667689 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

Kinematics deal with the

1. Motion of an object

2. Material property of an object
3. Elastic property of an object
4. Optical property of an object

Options :

2268952588602. 1
2268952588603. 2
2268952588604. 3
2268952588605. 4

Question Number : 217 Question Id : 226895667689 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

ERUIEA YU -

1. fanddl a%g @1 71fl

2. fardlh g & *ifdes o1

3. Tl a%g &1 dligeR U / Tyl
4. fpdl a%g &1 Uiy 07

Options :

2268952588602. 1
2268952588603. 2
2268952588604. 3
2268952588605. 4

Question Number : 218 Question Id : 226895667690 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1



The gas which is used to make chloroform is

1. Cyanogen
2. Radon

3. Propane
4. Methane

Options :

2268952588606. 1
2268952588607. 2
2268952588608. 3
2268952588609. 4

Question Number : 218 Question Id : 226895667690 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

GARIBIH &1 & [o7g SUal &1 o el 19 & -

IEEEIEE|
2,384
3. UIe
4. 7744

Options :

2268952588606. 1
2268952588607. 2
2268952588608. 3
2268952588609. 4

Question Number : 219 Question Id : 226895667691 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The first Tirthankara in Jainism is believed to be......

1. Arishtanemi
2. Sambhavnath
3. Rishabhnath
4. Mahavira

Options :

2268952588610. 1
2268952588611. 2
2268952588612. 3
2268952588613. 4

Question Number : 219 Question Id : 226895667691 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



o Tas o eddugadder 9
1. SR

2. HHyaay
3. BYYATY

4. AEMAR

Options :

2268952588610. 1
2268952588611. 2
2268952588612. 3
2268952588613. 4

Question Number : 220 Question Id : 226895667692 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

The llbary dynasty is famously known as

1. The Slave Dynasty
2. The Khilji Dynasty
3. The Tughlag Dynasty
4. The Lodhi Dynasty

Options :

2268952588614. 1
2268952588615. 2
2268952588616. 3
2268952588617. 4

Question Number : 220 Question Id : 226895667692 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

Al U9aY &l Wi w9 Y SF 9l 6 -

1. G Irold g
2. faesl Iedw

3. PIa® TeE g
4. Treft IrERr

Options :

2268952588614. 1
2268952588615.2
2268952588616. 3
2268952588617. 4

Question Number : 221 Question Id : 226895667693 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



The slogan, 'Swaraj is my birthright and | shall have it’ is associated with

1. The Khilafat Movement

2. The Poona Pact

3. Civil Disobedience Movement
4. Home Rule Maovement

Options :

2268952588618. 1
2268952588619. 2
2268952588620. 3
2268952588621. 4

Question Number : 221 Question Id : 226895667693 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

RS TR 910G ISR 8 R # 38 U & I 98 AR fodds U1y JS1 g3 & -

1. f@aTwd efigia
Z.TEHE@HT

3. g faq HieeH
4,78 fa9 sfiaieH

Options :

2268952588618. 1
2268952588619. 2
2268952588620. 3
2268952588621. 4

Question Number : 222 Question Id : 226895667694 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following statements is incorrect for Chandrayaan-37

1. Launched from Vikram Sarabhai Space Centre on July 14, 2023

2. India became the 4th country to land on the Moon.

3. It consists of a lunar lander named Vikram and a rover named Pragyan.
4. It became the first mission to land near the lunar South Pole.

Options :

2268952588622. 1
2268952588623.2
2268952588624. 3
2268952588625. 4

Question Number : 222 Question Id : 226895667694 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Fofafad § 8§ oF W &y 959H-3 & Riw Tad a7

1,14 9@T3, 2023 B famH IRIUTS 3faRke &x J vata far m

2. HIRd dH R IR dIel d1d1 6= &4 41

3. 30 @ 1 &1 U6 R ol R TSI =19 &1 Us AaR i gl
4. g gl & GGl Yd & Uk ScR- ardl Ygdl [HeH &5 11

Options :

2268952588622. 1
2268952588623. 2
2268952588624. 3
2268952588625. 4

Question Number : 223 Question Id : 226895667695 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

The IUCN Red List is a catalogue of --

1. Species threatened with risk of extinction
2. Red Sea

3. Hot Springs

4. Rivers

Options :

2268952588626. 1
2268952588627. 2
2268952588628. 3
2268952588629. 4

Question Number : 223 Question Id : 226895667695 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

IUCN T T fopaa! i ot &-

1. @ g9 & o arel ueiiaat
2. O GFR

3. 39T Ed

4. Afegt

Options :

2268952588626. 1
2268952588627.2
2268952588628. 3
2268952588629. 4

Question Number : 224 Question Id : 226895667696 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Match List-1 with List-1l

List-1 List-1

Author
(&) William Shakespeare

Novel/Play
(1) Man of Destiny

(B) Lewis Carroll (1) The Tempest

(C) E M Forster (1) Through the Looking Glass

(D) Bernard Shaw (IV) A Passage to India

Choose the correct answer from the options given below:

1.(A) - (0, (B) - (I, (Q) - (Im), (D) - (V)
2. (A) - (1), (B) - (1, (©) - (V). (D) - ()
3. (A) - (), (B) - (), (Q) - (1), (D) - (V)
4. (A) - (), (B) - (IV), (Q) - (1), (D) - (1)

Options :

2268952588630. 1
2268952588631. 2
2268952588632. 3
2268952588633. 4

Question Number : 224 Question Id : 226895667696 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

-1 BT gAT-11 & 1Y e & -

-1 -1

GIGED ITA/ACS

(a) faferm SaaftmR|(1) 39 e SRt

(B) o9 BRI (I © T

Q% T B |1 YT gl g

(D) §1S = av) of 0 € SfEan

Id feu e fdaed! | § Het 9Tk

1. (A)-(, (B)-(1). (©)-(1), (D)-(IV)

2. (A)-(11), (B)-(1), (C)-(1V), (D)-(1)

3. (A)-(), (B)-(n, (C)-(1), (@)-(IV)

4. (A)-(), (B)-(1V), (O-(1), (D)-(1N)
Options :

2268952588630. 1
2268952588631. 2
2268952588632. 3
2268952588633. 4

Question Number : 225 Question Id : 226895667697 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



In humans, calcium plays a role in

{A) Bone formation

(B) Blood clotting

{C) Muscle function

(D) Blood formation

Choose the correct answer from the options given below:

1. {A), (B) and (D) only
2. (A), (B} and (C) only
3. (A), (B), (C) and (D)

4. (B), (C) and (D) only

Options :

2268952588634. 1
2268952588635.2
2268952588636. 3
2268952588637. 4

Question Number : 225 Question Id : 226895667697 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

HI1 H SR B U Aoyl HiHDl o
(A) BS1l o frrefor #

(B) TG T YgdT o H

(C) HIgURITl & o |

(D) 3&d & FAETO H

e fgg T famedl @ 9@ S| I

1. %ad (A), (B) IR (D)
2. %ad (A), (B) 3R (O)
3.(A), (B), (Q) 3R (D)

4. %4d (B), (C) 3R (D)

Options :

2268952588634. 1
2268952588635. 2
2268952588636. 3
2268952588637. 4

Question Number : 226 Question Id : 226895667698 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Arrange the sequence of national events in the order of their occurrence.
{A) Swachh Bharat Abhiyaan

(B) Mars Orbiter Mission

{C) Right to Information Act

(D) Economic Liberalization

Choose the correct answer from the options given below:

Options :

2268952588638. 1
2268952588639. 2
2268952588640. 3
2268952588641. 4

Question Number : 226 Question Id : 226895667698 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

51 PTG TeAT3 & 3mH Pl 3P Uicd g & HH H Faiyd Hi|
(A) W= YR HEAH

(8) A1 aiifse fmm

(C) Y1 T 3UPR 3ffuFgH

(D) 2Nfife IERi®R

il feg T fased! H © wEt I I

E
C

Options :

2268952588638. 1
2268952588639. 2
2268952588640. 3
2268952588641. 4

Question Number : 227 Question Id : 226895667699 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Arrange the following international events in chronological sequence of their occurrence.
{A) Fall of the Berlin Wall

(B) Apartheid ends in South Africa

(C) Adoption of Sustainable Development Goals by UN Member States.

(D) Establishment of the United Nations

Choose the correct answer from the options given below:
i
%
3.
4.

Options :

2268952588642. 1
2268952588643.2
2268952588644. 3
2268952588645. 4

Question Number : 227 Question Id : 226895667699 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

frafeRad SRSt gerail &1 Ie afed g1 o PromH H oyareyd &Y |
(A) ST 1 EIaR 1 UeH

(B) I&ITT SIBIHT H T1HE GHIE gl

(C) §YE Y & Hawg o2 gRI Yod (a1 631 DI AU

(D) TYT T DT RITGT

el feg Te fasedl H © wEt I T

Options :

2268952588642. 1
2268952588643. 2
2268952588644. 3
2268952588645. 4

Question Number : 228 Question Id : 226895667700 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



The strait that separates the North Andaman islands from the group of islands of Myanmar is...

1. Andaman Strait
2. Coco Strait

3. Preparis Strait
4. Cabot Strait

Options :

2268952588646. 1
2268952588647. 2
2268952588648. 3
2268952588649. 4

Question Number : 228 Question Id : 226895667700 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

IE OSSR S STl HSHH £1Ul &I TIAR & 414l & WHE T 3 Hdl o

1. 3SAF TdgAEHY
2. DI TaSHEAH

3. iRy SasawEas
4. PEE TasHTIH

Options :

2268952588646. 1
2268952588647. 2
2268952588648. 3
2268952588649. 4

Question Number : 229 Question Id : 226895667701 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Article 9 of the Indian Constitution deals with

1. Persons who migrated to India from Pakistan

2. Indians who reside outside India

3. Persons who voluntarily acquire foreign citizenship

4. Right to citizenship at the commencement of the constitution

Options :

2268952588650. 1
2268952588651.2
2268952588652. 3
2268952588653. 4

Question Number : 229 Question Id : 226895667701 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



YRdIg GfayH & egwdc o, [y & eg dad el @ -

1. d TN o UIfthaT ¥ HaTd gid HRd 34 ¥
2. YR ¥ ¥16Y 38+ d1d HRd™

3. d afad ol Wt ¥ e Amivedal urd & §
4. TfgUE & URY H AMNGd & AEHR

Options :

2268952588650. 1
2268952588651. 2
2268952588652. 3
2268952588653. 4

Question Number : 230 Question Id : 226895667702 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

The main purpose of the Goods and Services Tax (GST) compensation fund is

1. To provide funding for infrastructure development.

2. To provide relief to taxpayers who have paid excess tax.

3. To support the development of micro, small and medium enterprises (MSMEs)
4, To compensate states for the loss of revenue due to the implementation of GST.

Options :

2268952588654. 1
2268952588655. 2
2268952588656. 3
2268952588657. 4

Question Number : 230 Question Id : 226895667702 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

%] Ud Qa1 R (S1.0H21/GST) &ifagfd Sy o1 GBI SEA & -

1, SR W & 5 & R 41 yeq &1

2. 3 B @ Igd HaH &3 ool JAfafad & @1 YT e gl

3. &H, T SR 4294 SE! (TH.TH.UH.3 /MSMEs) & fa®r &l 98U ST

4. S THA, (GST) TN 8H & HRYI Asdl &1 §U G & JHUH S UGS BT

Options :

2268952588654. 1
2268952588655.2
2268952588656. 3
2268952588657. 4

Question Number : 231 Question Id : 226895667703 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1



Clouds are the masses of small water droplets or tiny ice crystals.

{A) Clouds are classified according to their appearance and height.

(B) Cirrus clouds are high altitude clouds, which are usually feathery shaped and compaosed entirely of ice crystals,
{C) Nimbostratus clouds are mid level clouds producing sporadic rain.

(D) Altocumulus are the heap-like clouds having flat bases and rounded tops.

Choose the correct answer from the options given below:

1. {A), (B) and (D) only
2. (A), (B) and (C) anly
3. (B), (C) and (D) only
4. (A), (C) and (D) only

Options :

2268952588658. 1
2268952588659. 2
2268952588660. 3
2268952588661. 4

Question Number : 231 Question Id : 226895667703 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

a15e Ul #1 BiET 451 T 81 9% & 3 (red) & YT T gl

(A) STedl &I ID! SURYTT 3R Hdls & SUR i (a1 Siidl 3

(B) &Y TY (XY d1Ga) a1 did §IGd ald o, 9l TR R UG & HPR IR P Re b W A S48l ol
() HUH TR (FrERey) 915d 79 TR & 9159 §, o geUe aui 4al ad g

(D) HHEHURT 9164 (HeciFgad) U oY d16d &, ol H1YR T8ad AR 20y 1id gidl &1

- fow e faeed! H © Wt S

1.®dd (A), (B) IR (D)
2.%ad (A), (B) 3R (O
3. ®ad (B), (C) 3R (D)
4.%ad (A), (C) 3R (D)

Options :

2268952588658. 1
2268952588659. 2
2268952588660. 3
2268952588661. 4

Question Number : 232 Question Id : 226895667704 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Aizawl is the capital of

1. Meghalaya
2. Nagaland
3. Mizoram
4. Tripura

Options :

2268952588662. 1
2268952588663. 2
2268952588664. 3
2268952588665. 4

Question Number : 232 Question Id : 226895667704 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

HIgAI, EARIEE |

1. T
2. 9MdS
3. foeiRe

4. g

Options :

2268952588662. 1
2268952588663. 2
2268952588664. 3
2268952588665. 4

Question Number : 233 Question Id : 226895667705 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Match List-1 with List-1l

Match the countries with their respective currencies:

List-1 List-11
(Country) (Currency)
(&) Japan (I) Krone
(B) Russia (I Yen

(C) China (1} Ruble
(D) Norway (IV) Yuan

Choose the correct answer from the options given below:

1. (A) - (V). (B) - (1), (C) - (1), (D) - ()

2. (A) - (), (B) - (1), (©) - (W), (D) - ()

3. (A) - (), (B) - (11, (©) - V), (D) - (1)

4. (A) - (), (B) - (V). (€) - (I, (D) - (I
Options :

2268952588666. 1



2268952588667. 2
2268952588668. 3
2268952588669. 4

Question Number : 233 Question Id : 226895667705 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

-1 &1 -1l & 1Y e &1 -

=7t &Y 3T gETell F ATy s
-1 -1l

& (=

(&) SO (1) B

() & (=

(9= kTG
WEIC (V) 3

I feu e fasedl | § |et IR 4

1. (A D)-(1)
2. (A)-(1), (B)-(11), (C}-(IV), (D)-(1)
3. (A)-(1). (B)=(11), (C)-(1V), (D)-(1)
4. (A)-(), (B)-(IV), (©)-(1). (D)-(In)

V). (B)-(11), (C)-(1), (

Options :

2268952588666. 1
2268952588667. 2
2268952588668. 3
2268952588669. 4

Question Number : 234 Question Id : 226895667706 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

The river which flows through the Grand Canyon of India, also known as the Gandikota Gorge is

1. Ganga

2. Krishna

3. Penna

4. Brahmaputra

Options :

2268952588670. 1
2268952588671.2
2268952588672. 3
2268952588673. 4

Question Number : 234 Question Id : 226895667706 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1,700
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Options :

2268952588670. 1
2268952588671. 2
2268952588672. 3
2268952588673. 4

Question Number : 235 Question Id : 226895667707 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

The National Emblem of India has been adopted from the capital of King which was situated in

1. Akbar, Agra
2. Ashoka, Sarnath
3. Ashoka, Sanchi
4. Akbar, Delhi

Options :

2268952588674. 1
2268952588675. 2
2268952588676. 3
2268952588677. 4

Question Number : 235 Question Id : 226895667707 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

Options :

2268952588674. 1
2268952588675.2
2268952588676. 3
2268952588677. 4



